7.3 Equations with Brackets

Math 9 Equations with Brackets
Solve each equation. Show how you are isolating the variable.

Method 1: Divide both sides by the number in front of the brackets.

2(n+7) =18 3(x —8) = —2 —4(12+y) =72
+2 Tz =3 =3 ==~y +-4
ntT1 =9 x-8 =-%+8 L2+y =-1.8
-7 -7 8 =8 ‘1.2 1.2
n:2 x =-% @ y - -3
= 22
x 3
3(t—1) =20 2(7—k)=-16 4.2=2(0.6—a)
=3 =3 =2 <2 <2 =2
t-1 = 29, T1-k =-8 21=06-a
. 3 -1 -1 -0.6 -0.6
t83 KR 15=-a
t =% Kk =15 -15=a

Method 2: Multiply the number in front of the brackets with the terms inside the brackets. Then solve the

two-step equation.

AN\
2(n+7)=18
2nt ¥4 =18
-1 -4
2n = 4
<2 T2
n==2

AN\
3(t—1) =20
3t -3 =20
+3 3
3t =23
+3 +3
s 23
t-3

Which method do you prefer?

<N
3(x —8)=-2
3Ix-24 =-2
t2y 24
3x =22
+3 =3
=22
X=3

<~
2(7—k) = —16

4-2k = -16
-14 =14
-2k =-30
-2  +=-2

K =15
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AN
—4(12+y) =72
“48-4y =72

t4.8 +4.8
-Hy =12
+-4 -4
y =-3
<N\
42 =2(0.6—a)
42 =1.2-2a
-l.2 -l.2
3 =-2a
-2 <=-2
"% = Q



Solve each equation. Show how you are isolating the variable.

3(me2
:( lt
10(t-10_3 .10 1.3 67 _2(65-w)-6 3 PR
5 2 ‘s_*i = l;(m-{-z)[_l5
1ott-1) | 30 2(t-) =13 42 _12(5-w) 2:3(me2) =4
T 36 (m+2) =43
2t =15 7 = 4(5-w) " _ Kl
2t-2:15 7 = 20-4w q(me2) =16
e SEe cee Am +18 16
2t =1 -13 = 4w 18 18
T g R am =-2
t:'—"—or 8-',»_ or 85 - w =9 -—:qz
% « W m= I
<~
2(crd)=-15 -0.5 = X-I.b 6 % ’(\) 2) "
2ct4 =-15 ti.e the
-y | '.' = __o_ (y z)
2¢=-19
2 2 IS = Z’Z-y\-l)
¢--4 IS =2y -y
*y ry
l?z’ zy-:z
19
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